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B.A. (Par¢ ~I) Examination, 2022
(Three _ycar Scheme)
(10+2+3)
(Faculties of Arts)
(For Only Regular Students)

ELEMENTARY COMPUTER ApPLICATIONS

Time : 2 Hours
Maximum Marks : 60

Note :
Note: (1) Attempt all the 120 questions. Each questjon carries /2 mark.

W 120 999 79 $iftre | R F v s R

(2) Make sure that your question booklct has all the 120 questions.
Defective booklet can be got changed within 15 minutes.

S-gfert 4wt 120 o7 BY 2, sEh ate Hife | ZRgt g
18 A2 % ageram o gwm 2 ) '

3) Read the instructions given on question booklet and OMR sheet before
starting the answer. All entries should be filled by Blue or Black Ball-
Point Pen.
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wfafRal A sra +d a7 @ WA F 5 |

(4) Select the best possible answer and darken the correct AnSw
C or D in the circle corfesponding to that question in OM;Es:cgr \B\n?l:

black/blue nall-point pen. Answers if Written in R'sh
will not be evaluated. ¢ Question:Booklet.
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What is smallest unit of the infarmation ?

{A) A bit () Abyie (C) A block (D) A nibble
TR R A it ?
(4) A wit (B) A byte (€) A block (D) A nibble
¢ How many colour dots make Wp one colour pixel on a screen ?
(A) 265 By 16 (C) 8 (D) 3
T Tht R e 1 % iy & o et w2
(Ay 265 (B) 16 (C) 8 (D) 3
3. Which Of the following natwral element is the primary element in computer chips ?
(A)  Silicon (B) Casbon (C) Yron (D) Uranium
ﬁq%f@aﬁﬂah:mmm%u@ﬁmﬁmﬁ%aaé ?
(A)  Silicon (B) Carbon - (C) Iron (D) Uranium

4. Which of the followin
columns ?

(A) Window program (B) Spreadsheet program
(C) Graphics program 3 (D) Word progeam
Prfertiea 1 @ #)7 = Tiom sy s R T A i Tt © o ¥ we

g
(A) Window program (B) Spreadsheet program
(C) Graphics program (D) Word program..
5.  Whichofthe following is an output device ?
(A) Keyboard, (B) Mousc (C) Lightpen (D) VDU
R 4 % P 0% mseqe Rama 2 7
(A) Keyboard (B) Mouse (C) VLight pen (D) VDU
6. Which of the following is an input device ?
(A) I'lolu_zr (B) Printer {(C) VDU (0} Mouse
et d 2 2 & T Ramza 2 2
(A) Plotigr (B) Piinter () VDU

(D) Mouse .

9, Which of the following is the extension of Notepad 7

(A) Dt (B) .xs © .ppt (D) bmp

ﬁgﬁamﬂeﬂgmqm%mg ?

(A) B) xis €) .ppt (L) bmp
1014-SC 2
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BIOS 1% used
(A) R .
© ¥ Operaling sysiem _
) By interpreter (B) By mmp:lt.f 0 soﬂ*“"“c
Blos W 3T fe T & (D) By applica!'
(A) By operating system or
(C) B}' inlcrprucr (B) By C‘Jmp’lc_ saﬂ\haﬂ:
(D) By applicat®”
9. Whnl is th
IS the tvean of't s
(A)  Restartin ':::mhc g he sytem m
(<) To g puter (B) Install the progf 2
scan (D) Totum of
(A) ﬁﬁ“““wﬂ% ?
'R -
©) T:f"'"g computer (B) Install the progra™
can (D) To turn off
10. A - _ is the ma;
m;z:‘“l:::':: '_:s accurate, but if the result of 2 computation is false: what is (1€ Mag
(g} Power failure (B) The computer circuits
(€ Incorrect data entry (D) Distraction
T TEF g &, AR SR T 3y oo et 2, ) e O RO TR 7
() na?r:?.am - (D) W’
11.  The central processing unit is located in the
(A) Hard disk (B) Systemunit (C) M : :
4 o fmoryunt (D) Monit
Fawfinge  dfemi ) Monita
(a) wfes (B) foreea vt
©) W (D) Wi
12.  Which onc of the following groups contains graphical fjle €Xtens;
(A) JPG, CPX, GCM B GIF, Tcg wlons'?
(C) TCP, JPG, BMP (D) JPG, G .mMF
fonr & @ o w3 e BT e 7 +UMp
(A) JPG, CPX, GCM (B) GIF, TCE «,
(€) TCP, PG, BMP (D) WG, "MF
; ' IIF. BMP
1014-SC 3
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13
. . ?
ufh"“’ﬂ of the foflowing is equal to a E‘g‘b}de (C) 1024 meg

ﬁ“ﬁ%é;?b?m e 2 o2 ? 1024 bi
¥ 3 oy v i 3 a7 1024 megabytes (D) its

Joytes (D) 1024bis

(4) 1024 ®
- } 512GB
14, W e iary between a user of 8 CompYIer aod the
ich type of program acts as an intermediary DETYE
E:Tp“wr hardware ? () User thread
© gf::if resd (D) Application PP & &t ey
?‘“mnm‘ R IR F T ﬁmaﬁm%ﬁm
?
(A)  Operaring v (B) User thread
(©) Snmq e ;:::? i (D) Application program
15,

Whar kind of gerstand ?
language can computer upn
} Normal laj‘g:;:gc (B) Computer language

{.C] Assembly language (D) High-level language
T form wanyy ) vt Y HUS WHATR 7

(A)  Normat language
(€) Assembly language

(B) Computer language
(D) High-level language -

2 Which of the following is not one of the internal components of a CPU 7

(A) Centrol sequencer (B) M-D-R
(C) M-A-R (D) Floppy disk

edash mCPUS TARF Ui T AT T8 R ?

{A) Contral sequencer (B) M-D-R .
(C) M-A-R (D) Floppy disk
17.  What is the speed of computer measured in ?
(A) Nano-seconds {(B) Xilo-seconds
(C) Gigahenz (D) Megabytes
s Ffa RN fFmimmam e 2
(A) Nano-seconds (B) Kilo-seconds
(C) Gigghenz (D) Megabytes
j§. Whatis the full form of RAM 2
(A) Remote Access Memory (B) Random Access Memory
(C) Remote Access Money (D) None of th
s @ =9 %4 z ? 01 inesc
A) Remote Access Meyy '
EC) Remote Access Af, on::y (B) Random Access Memory .,
(D) None of these

https://www.pdusuonline.com



19.

Which of the following is not considered as hardware ?

(A) Operating system (B) CPU
(C) Keyboard (D) -Hard disk
ey 3§ § v w TS I a Eicik
(A} Qperating system (B) CPU.
(C) Keyboard (D) Hard disk
ice ?
20.  Which of the following is exclusively a sequential access stof 8g° ¢ ‘(D) D
(A) Hard disk (B) Floppydisk (C) Magnetic tap®
Prafirfiaa 2 & F 31 9 8 @ i i @ R € | o) DVP
(A) Hard disk (B) Floppydisk (C) Magnetic 12P°
21.  What s the full orm of SRAM ? s Memory _
(A) Static Random-Access Memory (B) Static Remote-ACCES Viemory
(C) Setup Random-Access Memory (D) Setup Rtm"“'ﬁcc”s
SRAM FIQieT T2 ?
(A) Siatic Random-Access Memory (B) Static Remote-ACcess Memory
(C; Setup Random-Access Memory (D) Setup Remote-ACCESS Memory
22.  What is :he full form of USB ?
(A) Unshielded SystemBoard ®  (B) Universal System Board
(C) Unidennfied System Bus - (D) Universal Systemn Bus
USB F QUi §3 a2 2 7
(A) Unchielded System Board (B) Universal System Board
(C) Unidentified Sysiem Bus — (D) Unmiversal System Bus
23. What s five main components of a computer system ?
(A) CPU, CD-ROM, Mouse, Keyboard, Sound card
{B) Memory, Video card, Monitor, Software, Hardware
{C) Modem, Keyboard, Word Processor, Printer, Screen
(D) CPU, Memory, System bus, Input, Outpui
S fowen & e TR aTE T g ¢
(A) CPU.CD-ROM. Mouse, Keyboard, Sound card
(B) Mcmory, Video card, Monitor, Software, Hardwar,
(C) Medem, Keyboard, Word Processor, Pri.ntcr. Screen
(D} CPU, Memory, System tus, Input, Output
1014-SC 5
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IowiﬁB is not a form of dato Storage media 7
Which one of the fol (@) Magnetic ape (C) Magaegic disc

24- (D) ODIIQ“
(A) A datgbase wmﬂﬁmm@mqﬁa f i
d
freRefsa # 3 2 (B) Magnetic tape (€)  Magneyje disc (D) Opti |
(A) A darabasc i .
. lled
25 ‘ il of computer arc ca .
< The physical compo? (B) Soflwyre
(A Hardware (D) None of
{C) Both (A)and (B g these
B F Wi oo B —— l
{A) Ha.rdwm-e 3 (B) Sﬁmvare
(C) Both (A) and (B (D) None of these
26.  We can only see and can’t touch of compulter parts are called
(A) Hardware (B) Software
(C) Both (A)and(B) (D) None of these
O Ho B o e W O SR IR, eemi
(A) Hardware . (B) Software
{C) Both (A)and (B) (D) None of these
27. Which is an Application softwase ?
(A) Paint (B) MS Word (C) Typi
ypingmaster (D) Allof these
TAHIR divcam s w7 |
(A) Paint . (B) I}f]S Word (C) Typing master (D) All of thesc
28. Which of these is a system software ?
(A) Window XP  (B) Window 7 (C) Linux (D i
) All of these
AN @@ e aheam 2 7 ,
(A) WindowXP “ (B) Window 7 (C) Lirux (D) All of these
29. ICstandsfor_
(A) Integrated Circuits (B) intemational Circuits
(C) Intemmet Circuit (D) Inner Circuits
ICH 34}
(A) Integrated Circuits (B) Internationa! Circuits
(C) Intemet Circuit (D) [Inner Circuils
1014-SC B

https://www.pdusuonline.com



30.

31.

33.

34.

[(BMm stands for

(A) Intemationa) Business M
) Intet Business Machine
IBM ¥ anef @

(A) Intemnational By
©)

achincs

Intel Business Machine

ROM stands for

(A) '
Read Only Memory

{C) Rich Order Meniory

ROM =1 3pf 2 .

(A) Read Only Memory

(C) Rich Order Memory

Secondary memory is also called
(A) External memory

(C) Both(A)and (B)
[HA AN 77 ¥t Fgeh § -
(A) External memory
(C)+-Both {A) and (B)

PROM standsfor .
(A) Programable/Program ROM
(C) Perfect RUM
PROM®THIR_ _ .

(A) Programable/Program ROM
(C) Perfect ROM

OCR stands for .
(A) Optical Character Reader
(C) Optical Camera Rezader
OCR #1374 .

(A) Opiical Character Reader
(C) Optical Camerd Reader

1014-SC

Siness Machines .

—————

" (B)

(D)

(B)
(D)

~(B)

(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
D)

(B)
(D)

(B)
(D)

(B)
(D)

Innovati¥®
s
Internatio”

Innovative
Internation?

Read Ope” ;‘:o
Read Ope”

ngr)'

M
Read Op¢? ale

Read Ope? Mod

Auxiliary memory

None of thes¢
Auxiliary memory .

None of thes¢

Pressure ROM
Private ROM

Pressure ROM
Private ROM

Optical Character Remove
Option Check Reader

Oplfcal Character Remove
100 Check Reader

https://www.pdusuonline.com



rtf stands §Of ——— - (B rich text form

35. t
: formo
{A) ncl‘;‘:’; oot ' (D)  real text format
€ re |
.r:m o text formet {B) rich text form
EC}J r::  texs fom ' (D) rcal text format
cead te:
36, MICR siands fof ——— -
‘ g)CRp,:agn tic Ink Character Reader (B) Mobile Ink Character Reader
(©  Magnetic Ink Check Reader (1) Magnetic Ink Card Reader
MICR= S __—
aracler Reader (B) Mobile Ink Character Reader

(A) Magnctic Ink Ch

(C) Magnetic Ink Check Reader (D) Magnetic Ink Card Reader

37. ASCH sandsfor___—
(A) American standard Code for Information Interchange

(B) American Standard Corporation
(C) American Special Class Intelligent
(D) American Soft Call Instructions
ASCH #1319 8
(A) American Standard Code for Information Interchange
(B) American Standird Corporation

{C) American Special Class Intelligent

(D) American Soft Calt Instructions

38. DVDstandsfor

(A) Digital Versatile Disk (B) Digital Video Disk

(C) Digital Variable Disk (D) Dratting Vocationzal Drive

DvD&afg_ |

(A) Digital Versalilc Disk (B) Digital Video Disk

(C) Dignal Variable Disk {D) Drafting Vocational Drive
39. Who is the father of Computers 2

(A) James Gosling (B) Charles Babbage

(C) Dennis Ritchie (D) Bjamne Stoustrup

HFGR & TAH N7

(A) James Gosling (B) Charles Babbage

(C) Dennts Ritchie (D) Bjame Stroustrup
1014-SC ]

https://www.pdusuonline.com



0. A hard disk drive can be direcity Conneeted 10 a PC via a _'_’,_J_.

(A) SCSt interface (B) Paratlel -m‘cffﬂ"’c
(C) WAN interfoce i (D) USB inter et
T W e 1@ ) O el A N g erem @ i e @ 7
(A} scCslinterface - (B] -Paralie) intcrfﬂce
<) WAN inlerl‘acc.- (D) USB inurﬁ"‘

4]. erfact

What js the full form of SCS) ?
stems c
(A)  Standard Computer Systems Interface {B) Small Compute’ ::;ndal'd terfac
(C)  Super Computer Systems Interfage (D) Small CompVt¢’
SCSIwmqdsuamd ? ms Interface

1
(A)  Standard Computer Systems Ierfao (B) ‘Shrall Compule” g):: jnterface
(C) Super Computer Systems Interfacer~ (D) Siall Computer
42. Which one of the following is not input device ? §canner
(A) Keyboard (B) Mouse (C) Speaker D)
e 3§ 2 2R mow e R 1@ # 2 ner
¢
(A) Keyboard  (B) Mouse (C) Speaker o) $
43. Which one of the following is an example of the browser software ?
(A) Microsoft Word (B) Notcpad
(C) Internct navigator (D) Internet exploret
PR 3FR A IR ETRIH T ITEIR 7
(A) Microsoft Werd (B) Notcpad
(C) Internet navigater (D) ‘Intemet explorer
44.  Which of the foliowing device is used for gaming ?
(A) Spraker (B) Mouse
(C) Joystck . (D) None of these
Frferitge 1§ & Fre Raza =1 3vdn M & fu o am 2 2
(A) Spcaker (B) Mouse
(C) Joystick (D) None of these
45. Which of the following memory cann be directly accessed ?
(A) Primary menory (B) Secondary memory
(C) RAM (D) DRAM
fro 3 & i o vt i owra T Rem ar gwa
(A) Primary memory (B) Secondary memory
(C) RAM M) DRAM
1014-SC ®
P.T.0.
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q6.

11
(A) The virus is o small program that infects a lacge program in th
(B) The virus is a file of the hacker. ® T System,
~ (€) The virus is an operating system that controps the entire O,
(D) None of these https://www.pdusuonline.com
i o ama s R iane
(A) mﬁwmﬂﬁwﬁeﬂﬁRQMﬁmwt |
(B) Tma g AeRAti
(C) v b rtaien R @ At @ oo (05) ) R w2 )
(D) Ry FHE
48. The term A: \refers to .
(A) Filename {B) Rootdirectory (C) Hard disk (D) Subdi
A FNufRwAR | "
(A) Filename (B) Rootdirectory (C) Hard disk (D)  Subdirectory
49.  Which of the following languages compnter understand ?
(A) SAVA language ‘ (B) C language
(C) DBinary language (D) Object language
Prerffga & w1 ot vy s w7 -
(A) 1 :’:‘VA language (B) C language
(C) Binary language (D) Object l2nguage
50. Whatis the full form o€ VD 9
:2)) z::u‘:l ;’:"iﬂ::“l’“:ﬂ User (B) Virtuai Detection Unit
ion Uit (D} Visual Display Unit
VDU # Fa o qg 7 I
(A) 5'":;’ Dev "'T“P‘nmt User (B) Virwual Detection Unit
18 3
© Detection Unj, {D) Visual Display Unit
1014-SC 10

Which one of the following printers is suitable fo, printing sprocket-fed car
(A) Normel p.".me_r (B) Solid Ink printer OPies
(C) Dot-matrix prantcr (D)  Business InkJet printer
mﬁa#mﬁa@h-mwmﬁﬁzm%mma ?
(A) Normal printer (B) Solid Ink printer

(C) Dot-matrix prihicr (D) Business InkJet peinter

Which of the following statement is correcy aboui the virus ?

https://www.pdusuonline.com



$). Which of the (ollowWing is & non-volaile memury chip ? (D) SM M

(A} EEPROM (8) RAM (C) DRAM
e 3 ) o O 1 DR R Ry § ¢ . pAM
{A) EEPROM (B) RAM (C) DRAM~ ’

52, Which of the lollowing shoricuy key shows the properties of 8 fil€ ? D) Al + EnteT
(AY  Ale+Cerl (B) AlL+p ) Alt+F3 {
P 8 @ 3 e it g &5 ity et 8 7 Al + EoteT
(A) Ale+Cul (B) Ali+p (C) Ali+¥3 (D)

53. In'which of the follawing, the second-generation computer was pased ? putdm tube
(A) Transistor (B) Electron ube (C) Electron ray (D)
Proafifea # @ Frwt gal O a dogg smaka e 7 Vacuum tube
(A) Transistor (B) Electrontwbe (C) Etectronray () _

53 Which of the following statement is cosrect about the URL ?
(A) URL is a software that connects to the internet.
(B) URL is the address of the web page.
(C) URL is the domain name.
(DY All of these
foifmdasRmemURL S M IR ?

(A) URL @ ERANEARGZALZAR
(B) URLRIAFMIL
(C) URLEMRIME)

(D) awmf
€5.  Which of the following device )s nota pﬁﬂable device ?
(4) DVD (B) Mobile ?hone
(C) Pendrive (D) Nome ot these
fae 5 & 3 7 Feampe oA A 3 R ¢
(A) Fdg (B) HIget i
€ TzTA (D) FHaRE e
56. Which of the following address is generated by CPU?
(A) Logical addess (B) Fhysica) address
() Actual address (D) Simpie addross
Prafafaa i 3 97 & w1 CPU S 23 fq e & 7
(A) aRFw (B) hi¥g qq
(C) wTeafa gat (D) ®NRy
1014-8C " P.Y.0.
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ing slatement is correct aboug 1, DVD »
% Whichohe row:w“ﬁﬂ1 ik )

{A} D'y’D iSﬂn‘]F

(8) o?’”nﬁ : " atlodevice, i, it cannot be cacyic an
(O 8 o poi ¥ide0 20 sound quality

(D) [;ﬁﬁ’b’ i P R ¢

SLiS R R

(a) R

(B) ﬁﬁ‘&““’"ﬁgl
(C) ﬁmw@g’mﬁﬁmmﬁ“ﬂ?mmmmm

Ywhere casily.

S8. Whichof the foltowing 1 the Correct abbreviation of COMpyTER 5
(A) Commonly Occupicd Mach_mes Used in Technical ang Educational Resear,
(B) Commonly Optﬁ“d Machimes Used in Technica) apg Environmenta] Rem,&_

(C) Comu\onlyOrifrﬂdHa‘:hi““ Used in Technical and Educational Researc)
(D) Commonly Operated Machines Used in Technical and Educational Research

Prorfifn 3 4 S w @ F& alina R 2

(A) orh i e FIRIT 1 S ST ¥ @ g o |

(B) mwwmﬁmﬁﬁmmmﬁmwi
(©) i she i ST T 1 T T 78 g e |
(D) mmmmﬁmﬁaﬁmmmﬂw%am.

59.  Which of the following is the smallest unit of data In 3 Somputer ? :
(A) Bit (R) KB (C) Nibble (D) Byie

Wﬁmﬁmaﬁmﬁnﬂﬁﬁqma ?
(A) Bit {8 KB (C) Niboblz (D) Byte

60. Which unit ts responsible for converti
erting the dat - . . .
understandable formar” ® a reczived from the user into compuer

A) Memory Unn ‘ _
Ecz Input Unit (B) Arithmetic & Logiz Unit
D (D} Output Unit
JqdnTeat 8 A 2 A% s { p
(A} Memory Uait iibhis mmﬁﬂ@&ﬁ—ﬁm‘qﬁ;ﬁﬁwh
(C) Input Unit (B) Arithmetic & Logic Unit
' (D)  Output Unit |
1014-SC 12 I!
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6l. The Only ]

anguage Which the COMPuter . .

A understandd 8
© psemily Langusee \B) Binary Languat®
(. ) BASIQ (D) C Lnngungc
(A)  rifash umyy ) A

C) I Dy
62.  Which of e following is not purely outpy device ? plotter
(€) = (D) @
63. Which of the following is not 3 form of gata °
(A) numbers and characters (B) imsges
{C) sound (D) none of abov®
it mam s
(A) e AR N ® f&
(© =f @) FawAR{E

64 Whichisnot a -computcx classification ?

(A) mainfrme (B) max frame (C) mim (D) notebooi:
R YA FAEM AR 7 .
(A} WOHR (B) =R
(C) *fi D) WEH
" '(1:)' c?::iiﬂ::an;ame memory (B) Accepts input data from keyboard
{C) Performs azithmetic/lcgic function (D) None of above
yrEmmRE 6 e It ek R
(A) WRATARK @) HRE Y TR ¥ HER

(€) Performs TR / afEs FRA (D) 7@ E BT

6. MS Word 2007 file 2ame exensions of e files is _
(A) .&f (B) .Txt (C) .Docx ©)

.Exe
Qe 2007 TR W T GEH L ¥
(A) &if (B I () Docx D) Exe
1014-SC n
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sk of 0perating system is (o Manayge

67, e primary @
A Uses (B) Programs (C)
Jen fre a1 R ard e e &
) Users (B) Progiams (C)
68. MP3 is _
() work-related audio (B)
© work-related [nlemey (D)
MP3 R
(A) work-related audio (B)
(€)  work-rclated Intemey (D)
69, The first page in the Website is known as
{A) Onc page (B) Papge Zcro (C)
Faarse © @A I B FE A R
(A) Omne page (B) Page Zero {C)
0. HTML is used
(A) For Drivers (B)
(C) For printing (D)
HTML w4 fsan ame & —
(A) For Drivers (B)
(C) For printing (D)
71.  The main system boatd in Computer is known as:
(A) Integrated Circuit (B)
(C) Processor (D)
FYZ § 760 vy 3 ) g v 2 -
(A) Integraied Circuit (B)
(C) Processor (D)
72. A computer is required to run the CD .
(A) FD Drive (B) CD Drive (C)
e T 5 o g 3 oy e omrev 4
(A) FDBrive ) CDprive ()
1014-SC 14

Resources D) ¢
v
fhnuh 4
Resources (D) Com,
nnds
work-related video
an operaling sysieimn
work-related video
4n opgrating system
S
Carch page (D) Home Page
Searchpage (D) Nome Page
Web development
None of the ahove
Web development
None of the above
Mother Board
Microchip
Mbother Board
Microchip
Zip Drive (D) PenDnie
Zip Drive (D) Pen Drive

https://www.pdusuonline.com



15.

14.

;‘:}I]Ch Mhe following is an €~Mail Cligyy -

(C L::""°erPuint Microsofl . B) Ovtlook Micf‘”on

By g'crosnn Word {D Microsoft M- "
W & {2 FRe o

(A)  pg, ,
verPoim Microson i a_wn
€} Microson Worg 3;)) 3"1":'; i’;‘é‘f;dﬂi, pro

In whigy, :
year Appl ,
(A) 1ogq Ppic ll\tl';dltccd the Macimosh computer 7 (D) 1982
Apphe § B 1974 (€) 1994
PPk 3 i af Macintosh ¥z a1 facy o 7
(A) 1934 0) jo82
(B) 1974 (C) 1994 (
75. An ¢x3mp|£ ofa handhek!. Wﬂ
{A) PoAs | (B) Laptop
g Micro-processor (D) None of the abOV¢
ES3es o w1 3 )
(A) PDAs
: (B) Laptop
(C) Micro-processor (D) None of the 3b0V¢
76. Computer Systtms on a single chip contains the brain which is called — —
(A} Micro-conuoller (B) Micro-compute!
(C) Micro-System (D) Micro-processor
@ @ o s Rreem & Ram e & Rt v @
(A} Micro-controlles (B) Micro-computeT
(C) Micro-System (D) Micro-processor
i7.  Which of the following is the fastcss data transfer medium ?
(A) Fiber optic czble (B) Coaxial cable
(C) Twister wire (D) Telephone line
frafofsad PR AT ST TER AR § ?
(A) Fider optic catle \B) Coaxial cable
(C) Twister wire () Telephone line
78. Windows 7isa .
(A) CLi-based operaing system (B) GU!-based hardware
(C) GUI-based operatmg system (D) GUl-based controller
e 1 L3
(A) CII-based operating syswin (B) GUl-bascd hargware
(C) GUl-based opesating system (D) GUl-based controller
1014.SC 5
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‘i
79 f"“f“: * ";:# (B)  Network of' Networks
(A Webs! D
_ ) Scrver
(C) Host
S
(A} Website (B) Network of Networks
(©) Host (D) Server
80.  wwhich of the following deseribes ¢ - commerce 9
(A} Through electronic business {B) Business
(C) The sale of g00dS (D) Al of the above
(A} Through electronic business (B) Business
(C) The sale of goods (D) Al of the above
81. Computer system technology that provides the ability 1o follow the kind of man .
(A)  Virtual Reality (B)  Artificial Intelligence
{C) Robotics (D) All of the above
mmwﬂmﬁmwmmﬁmmmﬁ :
(A) Virtual Reality (B) Antificial Intelligence
(C)  Robotics- (D) Allof the above
82. 1 Cbﬂcges / University the card is used for the identification of Students - )
(A) Adaptation card (B) Graphics Card
(C) Modem card (D) Smart Cards
aerfagaraal / hﬁﬁgﬂﬁﬁimmmwlaﬁaﬁm%mfammg ;
(A) Adaptaticn card * (B) Graphics Card
(C) Modem card (D) Smart Cards
83.  Data transfer between two PCs rules says :
(A) Mter-cunntcfion (B) Pratocol (C) Topologies (D) Network
A it & e Tz Prm wwd -
(A) Inter-comncction (B) Protocol (C) Topologies « (D) Network
84.  Which file format can be added ir. 2016 M_ S, PowerPoint 7
(A) .jpg B) .gif (C) .wav (D) Al of the stove
M.S. TaR-16 2010 5 7 ¥ rvet TRIST 2 gt <1 e & 7
(A} Jrg (B) .gif C) .wav (D) Al of the above
1014-SC 16
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5. To PTOteey
¥our com
A : Puter from g
:C’: File COmpression P“:’Srum: CXtemg) progrom is Uscd'
Allliyiry (B) Bockup Progra™®  ams
. . e
hlL m ? N Frge £ Tk (D) Troublcshooting P
: p
(©) Antiyiys rams (B) Backup Progra™® _ ng
(D) Troubleshooting ‘
§6. Using the Internel to
purch; (ce
(A) E-Degls (B) ‘“anms = 3gles s called o) i Cﬂmm‘:
W @RI} g e “Celt (©) E-Commerce |
(A) E-Deals - ¥y ___ | - COm'ﬂcr“
(B) E-cen (C) E-Commerce >
87.  Which of the followine ; .
) Hag :i s;::l OWIng is the opticg| Storage device? is
('C) DVD (B) Flash Memory Car
) (D) USB Drive
ﬁnﬁiﬁaﬁﬁﬁqﬂmmﬁqﬂm Pt d 7 ,
(A) Hard disk (B) Flash Memory Cards
(©) DVD (D) USB Drive
e : t of pagc!b?
$S. Which of the rOIIOW'lnB dOCumcnts related to the use or tp rcport tht ﬂupf:bﬂcapnm
(A) fﬂm;“ (B) Header/Footer (C) Bookmark { 27
Predafae tmﬁmmmmwamﬁwmamm
.’
(A) footnote (B) Header/Fouter (C) Bookmark @) Csption
89  Unexpected/harmiul e-mail is calfed : Lek
(A) Spam (B) Flame (C) Junk - (Dy Lr
safoa /efens - seemt § -
(A) @7 (B) %MW ©) % (D) Tk
s0. Microsoft Word can not be built
(A) mail merge (B! Prcsentation (C) Memo (D} Term Paper
Mictosoft Word & g3 ¢l v &% & 7
(A} mail merge (B) Prescntation (C) Memo (D) Term Paper
9" Which file exteasion describes only the graphics file 7
(A) BMP ard DO (B) PEGind TXT (C) TXTandSTK (D)) BMP and GIF
# mmaqwzmmdsmﬁmwﬂmmhms ?
(4) BMPand DOC (B) PEG@dTXT(C) TXTendSTK (D) BMP and GIF
1014-8C " £.1.0.
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which of the following is not coMPUEr “processop

92 :
(A) dual-co® B) 17 (C) Celeron (D) Androig
prferfiy A TR w7
(A) dual-core (B) 7 (C) Celeron (D) Andmid

93 o PowerPoint Presentations Shorteut Ky used 1o put the hyperlink.

(A) Cul+K (Bf) Curl +) (C) Crl+M (DY Shi+ ¢y 4 7
qaTese SRV H TR e 3 TR Widese ) 1 waiy Ry e 2
(A} Cul +K (B) Curl +) (C) Cul+M (D) Shift + Cypy « y

94, The CPU specd IS measured in
cPU Y arfa wrdh it &

(A) Hz, Ghz (B) MB.GB (C) Kms/Sec (D} None of thege

95. A barcode reader is...

(A) the ourpm device (B) input device

(C) pnnting equipment (D) None of the above

(A) the outpui device (B) input device

(C) printing equipment (D) . None of the above
26.  Waiermark is used in MS Word.

(A) The contentof a page, putting more steps in the hidden text,

(B) Aticmpts to pw a sign i a document.

(C) Forward ‘o highlight any text.

(D) Noncof the above

@. w872 § g2 mE fem S 2

(a) T EElaTgigh s A e |

(B) e gaa & ool g |

) PRI wfasIE )

(D) STH AR |
1014-8C 18
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97. ACIeliS 0 king of
(A) font style
({C)  fomy alignment
A & g | .

s

(B)
(D)

{B)

(D)

(B)
(D

(B)
(D)

(€)

(A) W gyt
© ®= WATENR
8. 'Whase wniqueness is a shel]
(A) Unix
(C) System Soflware
(A) gvee
(C) R wiReaat
99. The towal number of function keys in 4 computcr
(a) 10 B) 1
AT R FI A o wn v &
(A) 10 (B) 1

100, (n the e-mail 1d jaipurl23@jaipur in *jaspurl23’ is :

(A) Password
({C) internet Scrvice Provider

§- 3m6.A jaipurl23@iaipurin ¥ ajour123° -

(A) Password (B)

(C) Intemet Service Provider (D)
'6l. Shift -+ delete 1s used for

(A) Tudeleie all permanently (B)

(C} changing the namc of Fotder ()

Shift + delete ¥R i@

(€)

(B)
O

the font sizc
Vonc of the abe¥®

%Iz aga
vt § 9y 7

Application Softw?

et

tefieea Aiwd

2 o "
12 o 1

Name Email iD/Uset Narme ..

None of thc above
Namc Emai) ID/Usef Name

None of the above

{0 empty the Recycle Bin
Nore of the above

(A) aﬂtm#ﬂhﬁ:zﬁwﬁnﬂgﬁ%m

(B) ferven R a0 F T

(€) WER T T AGN § RN
(D) v A A

1014-SC
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following is not available on the Ruler of MS Word screen ?

ich of the
102, W]d-;-:b 10p bo¥ (B) Leftindent  (C) RightIndent (D) Cente, Ing
fﬁ}ﬁﬂ#mwaﬁﬁﬁﬂ%Rulefﬂmmﬁ? i
ae

o Tebswopbox B Leftindent  (C) Rightindent (D} Cemgy,, -
{ !

103, What is the shortcut key for line break ?
) » o et B) Al+Entr (C) Shift + Enter (P} Spacey Enter

PN (OTEa FF) ¥ fire shortcut TR R 7

[‘a] Ctﬂ + Entes (B) Alt + Enter {C) Shiﬂ. + Enler (D) Spacc + Eﬂlﬂ

By pressing F12, which of following will happen 7
(A) Save As dialog box will open (B) Save dialog box will open

(C) Open dialog box will open (D) Close dialog box will apen
£12 caRw, B i 8 1 @ @ e 7

(A) SaveAs dialog box will open
(C) Opendiglog box will open

104.

(B) Save dialog box will open
(D) Close dialog box will open

105. How MS Word will respond in repeated word
(A) A Green wavy line under the repeated word
(B) A Red wavy line under the repeated word
{C) A Blue wavy line under the repeated word
(D) WNone of above
waeE 7€ $8 SRR M W v g smem ?
(A) A Greenwavy line under the repeated word
(B) A Red wavy line under the repeated word
(C) A Bluz wavy fine under the repeated word
(D) None of above

106. With which of the following all formulas in Excel starts ?

(a) / B * (C) $ (D) =

Freaferfes 3 8 e ury qader F o w6 7

W ! ®) * © s © =
1014-SC 20
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107

: the
. 7"3_]'1 from
108. Which of the following keyboard shorteus can be used for creating 2 ¢
selected cells ? . D) .
(A) Fl1 (B) Fl10 € F& - G‘” .
fics i & #1 TP i v der @ wrd e s Ry I "'Fuz
D)
(A) Fit (B) FI10 (C) F4 (
109. L AN stands for | "
(A) Location Access Network (B) Local Anti Ncl; otk
1 [
(C) Local Arca Network (D) Location Area
LAN PEEEIR .
i ; (8) Local Anti NetwOl
A) Location Access Nerwork | .
((C; Loca! Area Network (D) Location Area Network
is a group of indepeadent computers attached to one another through
1o. A .8
- & d' .
communication medi2 ® Emi
(A) Iniame (D)} Al the ebove
C) Network h
- mmﬁm%mﬂ.ﬁ@‘{ﬁﬁﬁ!?ﬂﬂmﬂwwg.
« 5 | (By $-9e
W iza* (D) Fkwwh
- 2 P.T.0.
1014-SC

HOw we egn view u <ell Commery 9
tA‘) '103'1“0!1 thic MOtse inlﬂC]' Over |hc I N
. 'v'ﬁ: I-i i
(9)  Click the comwent comntang gn gy, . .
I® view.menu,

(C) Click the edit comment con
YMandy o :
i (3¢ inscrt mony.

(0)  Qlick (he display commeny COMnang op the window menu.

UG {1 ool 3R QW g f -

(A) Pn.:.uian the mouse pointer gye the cell.

(B) Click the comment commang on the yiew. menu.

(Cy  Click the edit comment commands o the insert menu.

(D) Click the display comment command on the window menu.
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T 1 Fos umsf‘."-iug r'lfs ﬁﬂm one I‘OSI o I‘\O‘lhn ]10$t over a TCI‘) nct“rork “IhiL‘h mnme
' )

wouse 7 '
(A) SMPT (B) FIP © Aoand(®) (D) Nonegpy,
14

6 TCP 3 T T TR 38R 8 3 Wl 9 wetpretin ek 35 270 P8 ety o

(A} SMPT (B) FTP €) (Ayand(B) (D) Nong ofpg,,

112, gvery node on the network is connected through a central devicc is called ___ topo) ogy

(A) Ring (B) Bus (C) Star (D) Mesh
%mnmﬁﬁ“m%mﬁwm%ﬁa Aartht T 4 |
(A) Ring (B) Bus (C) Star (D) Mesh

113. When data is encapsulated, which is the correct order ?
(A) Data, frame, packet, segment, bit (B) Data, segment, packet, frame, bj
(C) Secgment, data, packet, frame, bit (D) Data, segment, frame, packet, bit
T encapsulamd_em } IRl Fne ?
(A) Data, frame, packet, segment, bit (B) Data, segment, packet, frame, bit
(C) Segmem, data, packet, frame, bit (D} Data, segment, frame, packet, bit

114, is a system in which computers are connected to share information and resource,
(A) Computer organization (B) Computer software
(C) Computer netwerks ' (D) None
& worredt @ ol et et it waE A w0 R R g d
(A) FIRETA (B) HYX BIwIW
(C) FIAARFH D) *H
11S. Which is valid statement ?
(A) 1 KB =1024 Bytes (B) 1 MD = 1024 Bytes
(C) 1 KB = 1000 Rytes (D) 1 MB = 1000 Bytes
ramuFEY
(A) 1 KB=102¢ migy (B) 1 MB = 1024 W5
() 1 KB =1000vwyzg (D) 1 MB = 1000 IFE
1014-SC 22
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8. Who built the first Mechanical Cﬂlculmqq
(A)  Joseph Marie Jocquard .

{C) Blnise pascal (B) Jobhn Mum.:hly
| R gfYw m a7 (D) Howard Aiken
(A} Joseph Marie Jacquard

(C) Blaise pascal (8) Ichn Mauchly

(D) Howard Aiken

117, Det-matrix is a type of

(A) Tzpe :
() Disk (B) Pnnler
- AR v = w2 © B
(A} :ﬁ B) B
2 D)

—

118. The Third Genezation Comguter was made with

(AY Vacuum Tube (B) Dimc. Components
© IC (D) Bio Chips
OIS IIAE_ Fememmma |

{A)  Vacuum Tube (R) Discrete Componcnts
(€) IC (D) Bio Chips

119. Programs are executcd on the besis of a priority number in a

(A) Batch processing system (B) Multiprogramming
{C) Time sharing (D) None of these
% W =) yrafyed gen & R v Renfa fem R |
(A} Batco precessing system (B) Multiprogramming
(C) Time sharing (D) None of these
126. Basicis _ anguige.
(A) aprocedural (E) an object oricnted
(C) outh(A) and (B) (D)} None of the above
iffs vy d
(&) & fFams (B) [
(€) {A)Im @) (D) 370 A A &f 34
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